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FIND OUT SYNONYM
< After weeks of FRENETIC activity, the ground was ready for the big match.

(a) Strenuous (b) Hurried
(c) Excited (c) Hectic
Answer — (d)
< The students took COPIOUS notes during the lecture delivered by the visiting professor.
(a) Extensive (b) Exhaustive
(c) Bounteous (d) Abounding
Answer — ()
*»  Very few people are IMPERVIOUS to criticism.
(a) Impenetrable (b) Unaffected
(c) Unstoppable (d) Unmindful
Answer — (b)
«* The policemen kept on questioning the criminal but failed to ELICIT the truth.
(a) Evoke (b) Wrest
(c) Obtain (d) Extort
Answer — ()
«»  Teaching in universities is now considered a LUCRATIVE job.
(@) Risky (b) Profitable
(c) Honorable (d) Undignified
Answer — (b)
«» His description are VIVID.
(@) Detailed (b) Categorical
(c) Clear (d) Ambiguous
Answer — (c)
«» Friends have always DEPLORED my unsociable nature.
(a) Deprived (b) Implored
(c) Denied (d) Regretted
Answer — (d)
«» Despite his enormous wealth, the businessman was very FRUGAL in his habits.
(a) Reckless (b) Law-abiding
(c) Unpredictable (d) Economical
Answer — (d)
< He was ENGROSSED in writing a story.
(a) Absolved (b) Absorbed
(c) Interested (d) Engaged
Answer — (b)
«* People fear him because of his VINDICTIVE nature.
(a) Violent (b) Cruel
(c) Revengeful (d) Irritable
Answer — (c)

EFIND OUT ANTONYM

In this competition, he has become the VICTOR.
(a) Beaten (b) Frustrated
(c) Disappointed (d) Vanquished

Answer — (d)



< His behavior at social gatherings is LAUDABLE.
(a) Condemnable (b) Impolite

(c) Unpleasant (d) Repulsive

Answer — (a)

¢ The characters in this story are not all FICTITIOUS.
(a) Common (b) Factual
(c) Real (d) Genuine

Answer — ()

+» The RELUCTANCE of the officer was obvious.
(a) Eagerness (b) Hesitation
(c) Enjoyment (d) Unwillingness

Answer — ()

#» Heisa GENEROUS man.
(a) Stingy (b) Uncharitable
(c) Selfish (d) Ignoble

Answer — (b)

< What the critic said about this new book was ABSURD?
(a) Interesting (b) Impartial
(c) Sensible (d) Ridiculous

Answer — ()

«» The issue raised in the form can be IGNORED.
(a) Removed (b) Considered
(c) Set aside (d) Debated

Answer — (b)

«» After swallowing the frog had become LETHARGIC.
(a) Aggressive (b) Dull
(c) Active (d) Hungry

Answer — (¢)

< For the first time | saw him speaking RUDELY to her
(a) Softly (b) Gently
(c) Politely (d) Slowly

Answer — (c)

% Dust storms and pulled rivers have made it HAZARDOUS to breathe the air and drink the water.
(a) Convenient (b) Risky
(c) Wrong (d) Safe

SELECTING WORDS/PHRASE

< Applications of those who are graduates will be considered.
(a) whom are graduates

(b) whose are graduates

(c) whom are only graduates

(d) NO IMPROVEMENT

Answer — (d)

< Itis raining heavily all through this week.

(@) has rained

(b) rains

(c) rained

(d) NO IMPROVEMENT

Answer — (a)

¢ The sparrow took no notice about the bread.

(@) notice of



(b) Notice from
(c) Notice to
(d) NO IMPROVEMENT
Answer — ()
«» As he spoke about his achievements, his high claims amused us.
(a) big
(b) tall
(c) long
(d) NO IMPROVEMENT
Answer — (b)
«» We ought to stand for what is right.
(a) stand at
(b) stand on
(c) have prepared
(d) NO IMPROVEMENT
Answer — (d)
*» He enjoys to tell stories to children.
(@) how to tell stories
(b) telling stories
(c) to narrate stories
(d) NO IMPROVEMENT
Answer — (b)
«* In a few minute’s time, when the clock strikes six, I would be waiting here for an hour.
(a) shall be waiting on
(b) shall have been waiting
(c) shall wait
(d) NO IMPROVEMENT
Answer — (b)
«» My old teacher gave many poor students money in spite of he was poor.
(a) even though
(b) as if
(c) however
(d) No improvement
Answer — (a)
< You should to read the newspapers regularly if you want to be well informed.
(a) ought
(b) have to
(c) should be
(d) NO IMPROVEMENT
Answer — (b)
If he had listening to me he would not have got lost.
(a) Listened me
(b) listened to me
(c) listen me
(d) NO IMPROVEMENT
Answer — (b)
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SPOTTING ERRORS
< () Let us congratulate him
(b) for his success

(c) in the examination




(d) No error
Answer — (b)
< (a) Many people prefer to travel
(b) by the road
(c) because it is less expensive
(d) No error
Answer — (b)
(a) She was beside herself in joy.
(b) when she came to know
(c) that she had been selected for the job
(d) No error
Answer — (a)
% (a) Mother tongue is as natural
(b) for the development of man’s mind

(c) as mother’s milk is for the development
of the infant’s body

(d) No error
Answer — (c)
% (a) The Prime Minister as well as his secretary were expected to
(b) arrive in Chennai
(c) on Saturday morning
(d) No error
Answer — (a)
(a) The speaker was
(b) not only slow
(c) but also inaudible as well
(d) No error
Answer — (c)
% (a) The crowd surged forward
(b) to have a glimpse
(c) of their favorite leader
(d) No error
Answer — (d)
< (a) There is a distinctive possibility
(b) that he will have the job
(c) once the investigation is over
(d) No error
Answer — (a)
(a) Many a star
(b) are
(c) twinkling in the sky
(d) No error
Answer — (b)
% (a) We discussed the problem
(b) so thoroughly that
(c) I found it easy to work it out
(d) No error
Answer — (c)
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Ordering of Sentences
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¢ The spirit of man
(P) Has slowly and painfully surmounted



X/
°e

X/
o

(Q) And his growing intelligence

(R) All the obstacles that have come in his way
(S) Has faced all kinds of dangers

(@ Q P S R

(b) S Q P R
(c) R P Q S
d) P R Q S
Answer : (b)

After our school boys had won a well contested hockey match
(P) So that they might communicate the

News of their victory to the headmaster

(Q) Who is a keen sportsman

(R) They came to school in high spirits

(S) And takes a very lively interest in

School games

(@ Q P S R

(b) S Q P R
(c) R P Q S
d) P R Q S
Answer : (C)

Even a leisurely game like cricket
(P) Demanding grace rather than strength

(Q) And over the rough tactics of the Australian team that visited England in 1921

(R) As we saw in the controversy over Body line bowling
(S) Can cause mach ill- will

(@ P S R Q
(b) R S P Q
(c) S R Q P
d) Q P R S
Answer : (a)

Scientists point out of

(P) sunspot activity

(Q) That it is an aftermath that
(R) Has now reached its peak
(S) Of the eleven-year cycle
(@R S P Q

(b) P Q S R

©Q R P S

d)Q S P R
Answer : (d)

As the ship streams from San Diego

(P) As walls of gray water from a distant
Storm in the North Pacified

(Q) Making the greener among us miserable with sea sickness
(R) Rock and toss the ship

(S) Those of us aboard have a personal
Demonstration of powerful ocean
Movement

@FP Q R S

(b) S R P Q

(©S P R Q



d)Q S R P
Answer : (C)

Prepositions and Determiners
% He succeeded dint of perseverance and hard work.

(@) by (b) for
(c) on (d)upon
Answer : (a)
¢+ Due to his illness, he could not finish the work— time.
(@) by (b) for
(c) on (d)upon
Answer : (C)
% There is no meaning —— what you say.
(@) by (b) for
(c) in (d) on
Answer : (C)
% These are good rules —— live by.
(@) with (b) to
(c) in (d) on
Answer : (b)
¢ Rahul must have received the dues __ now.
(a) by
(b) till
(c) for
(d) to
Answer : (a)
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(a) Adelaide/, fMyM (b) Darwin/Mkfou
(c) Hobart/gkckV. (d) Brisbane/fcLcu
Answer : (a)

g] dgk kb tkrh g?

(a) East Asia/ydt tlRmar

(b) West Coast of Africa/smwiar &1 uf¥=sft ac
(c) Sahara of Africa/vYhdk dk gkjk

(d) Mesopotamia/e LkikVkfe ;k

Answer : (d)

(a) Orographic rainfall/ad<ig aut

(b) Convectional rainfall/sae- asf

(c) Cyclonic rainfall (Tropical)/=smardta ast (Swrsfedsa)
(d) Cyclonic rainfall (Temperate)/amaria aut (2haiwr)
Answer : (a)

% “Viticulture” is a common feature of which one of the following Australian cities?/ “vixjkRiknu” futufyf[kr

« “Shamal” warm and dry wind is a “Local” wind found in/S=r T2 @1 &= “ere” & {6 @ e gar

% “Inversion of Rainfall” is associated with/ “ast &1 ggwpsor fdl 1 1c) g?

+ Which one of the following is the correct sequence about various levels of organization of

Biosphere?/thoeMy ick;kiLQvjh d IxBu d foftklu Lrjk di ckji e futufyf[kr e I dku Bk ,d] Bgh
vude g?

(a) Eco system — Biosphere — Community — Population/ikfjfLFkird r= & thoeMy & lenk; &
tull[;k



R/
0'0

(b) Population — Organism — Eco system — Biosphere/tuli[;k & tho & ikjfLFkfird r= &
thoeMy
(c) Organism — Community — Population — Biosphere/tho & lenk; & tuli[;k & thoeMy
(d) Organism — Population — Eco system — Biosphere/tho & tuli[;k & ikjfLFkfrd r= &
thoeMy
Answer : (d)
A brass ball is tied to a thin wire and swung so as to move uniformly in a horizontal circle.
Which of the following statements in this regard is / are true?/,d ihry dh xn ,d iry rkj I
c/kh g vkj mli bl ¢dkj cnkfyr fd;k tkrk g fd og ,dleku xfr I {ifrt olk e %erh gA bl Nc/k
ei futufyflkr dFkuk e I dkullk/l: IR; g/g?
1. The ball moves with constant velocity/xn fu;r ox I xfr djrh g
2. The ball moves with constant speed/xin fu;r pky I xfr djrh ¢
3. The ball moves with constant acceleration/xn fu;r Roj.k I xfr djrh g
4. The magnitude of the acceleration of the ball is constant./xin di Roj.k dk ifjek.k fu;r ¢
Select the correct answer using the code given below:/ulp fn; x; dV dk ¢;kx dj Bgh mlkj
pfu;!
(a) 1 only/doy 1
(b) 1 and 3/1 vkj 3
(c) 1,2 and 4/1] 2 vkj 4
(d) 2 and 4 only/doy 2 vkj 4
Answer : (d)
Two long wires each carrying a d. c. current in the same direction are placed close to each
other. Which one of the following statement is correct?/nk @& aR f=d a@d® # fase oRT
(d.c.) wur faem # warfea & @ 2, t& R @ Frwe & W T Fre=fafad sot ¥ @ @var
Igh g?
(a) The wires will attract each other/ar & — T&R &I aHifa s
(b) The wires will repel each other/ar v&—gwR «t ufasifa H
(c) There will be no force between the wires/rkjk d chp dkbl cy ugh ghkxk
(d) There will be a force between the wires only at the moment when the current is switched
ON or OFF//kjk di pky: ivkut sk cn ivkQh djur di {k.k 1J gh rkjk di chp cy yxxk
Answer : (a)
Which of the following are the properties of an electron?/futufyf[kr e dkul] bydVku d= x.k
g?
(a) Electron is a constituent of cathode ray/byDVku dFkM fdj.k dk %vd g
(b) Electron is a negatively charged particle/sdagia FvicHa® ATdY aTdT ST 2
(c) The mass of the electron is equal to the mass of the proton/byDVku dk n0;eku] ckvke d
ni;eku d cjkcj g
(d) Electron is deflected by the electric field but not by magnetic field/oyDVku foir {k= J}kjk
fo{kfir gkrk g 1jUr pEcdh; {k= Hjk ugh
Select the correct answer using the code given below/uhp: fn;i x5 dV dk ¢;kx dj Igh mkj
pfu;it
(a) 1 and 2 only/doy 1 vkj 2
(b) (b) 1,2 and 3/1] 2 vkj 3

Answer : (a)
The resistance of a wire of length and area of cross-section a is X ohm. If the wire is
stretched to double its length, its resistance would become:/l yckb vkj o vucLFk & ifjPNn
{k=Qy oky: fdIh rkj dk cfrjk/k x ohm gA ;fn rkj dh yckb dk [kpdj nkxuk fd;k tk;: rk bldk
cfrjik fdruk gk tk;xk?
(a) 2 X ohm (b) 0.5 X ohm
(c) 4 X ohm (d) 6 X ohm
Answer : ()
Which one of the following statements is not correct?/futufyf[kr dFkuk e I dkulk ,d] Igh ugh
g?
(a) The radius of curvature of a concave mirror is twice its focal length/fdlh vory y:l dh
o@rk f=T;k bldh Qkdl njh dh nkxuh gkrh g




Y/
0'0

R/
A X4

R/
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(b) Power of a convex lens is negative and that of a concave lens is positive/fd Ih mlky yil
dh {kerk __.kkRed gkrh g] tcfd vory y:l dh {kerk /ilkiRed gkrh g

(c) The radius of curvature of a plane mirror is infinity/lery ni..k dh o@rk f=T;k vulr gkrh g
(d) When a ray of light passes from an optically denser medium to an optically rarer
medium, the angle of refraction is greater than the corresponding angle of incidence/tc dkb
U &1 fvor wegw § ordY @ al ArAw @ gera: faje Awgw 7 ordt @ at suads - @i W4
vkiru & dk.k I cMk gkrk g

Answer : (b)

Which one of the following statements is not correct?fucufyf[kr drkuk e I dkullk ,d] Igh ugh
g?

(a) If the velocity and acceleration have opposite sign, the object is slowing down/;fn ox vkj
Roj.k d fpgu foijhr g] rk oLr efinr gk jgh ¢

(b) If the velocity is zero at an instant, the acceleration should also be zero at that instant/;fn
fodY &or W A e 2, Al S9 &er wR w@Rer A I s

(c) If the velocity is zero for a time interval; the acceleration is zero at any instant within the
timegiirjl;[TervaI/uﬁWWmaa%mévzgwé,ﬁwwfmﬁwwﬁmrwwxﬁ
qA

(d) If the position and velocity have opposite sign, the object is moving towards the
origin/;fn vofLFkfr vkj ox d fpgu foijhr g] rk oLr ey fcun dh vkj &k jgh g
Answer : (b)

Soon after formation of Indian National Congress, the British became suspicious of
nationalists. Who among the following called Congress representing only the elite-*
microscopic minority’ ?/"Rd IS HIY" &1 T34 gl & gd dre fafesr, wuscarfedar «
afer erng @ Wy | Feafafiaa 9 9 (69 9 @1 & w199 saa falkre @t —'I{e vwWil[;(
dk gh cfrfuf/iRo djrh g?

(a) Lord Napier/ykM ufi ;]

(b) Lord Dufferin/ykM MQfju

(c) Lord Ripon/ykM fjiu

(d) Lord Lytton/ykM fyVu
Answer : (b)
What is the common element among Ram Prasad Bismol, Roshan Singh and
Rajendra Lahiri?/jke¢ e fafier, e Rig v e i@l @ dia @1 |H=«an 287

(a) They threw a bomb in the Central Legislative Assembly on 8 April, 1929/mlgku; 8
vey 1929 dk dinh; fo/kku BHk e ce Qdk

(b) They were the founder members of

Swaraj Part/o Lojkt ikvi di BLFkkid EnL; Fk

(c) They were the founders of Hindustan Republican Association/o fgUnLrku fjiflydu
TaIfigeE @& s of

(d) They were associated with Kakori

Conspiracy case/d ®I®iNl 4s3d ARl 9 ddg o

Answer : (d)

Who among the following travelers was from ltaly and visited Vijayangar Kingdom
in fifteenth century?/s= @il ° @ 19 sedl 4 o ik o degdl warsd § Ao
JKT; dh ;k=k dh Fn?

(a) Nikitin/fufdfVu

(b)Fa-Hien/Qkfg; ku

(c) Bernier/cfu;j

(d) Nicolo Conti/fudkyk dkfuv

Answer : (d)

Where did that French East India Company first establish its factory in
Indian?/YkIhlh bLV biM;k difuh u Hkjr e viuk dkj[kuk Bcli igy dgk LFkfir fd;k Fkk?
(a) Calicut/dkyhdV

(b) Surat/ljr
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(c) Pondicherry/ikfUMpijh

(d) Masulipatnam/e IiyhiVue

Answer : (b)

Which one of the following is not a part of the Directive Principles of State Policy as

enshrined in the Constitution of India?/futufyf[kr e I' dku &0k ,d Hkjr d Rfo/ku e

Jmfasiug g At Aifd & e a@ &1 /T T8l 22

(a) Equal justice and free legal and places and object of national importance/leku

Usk; iR frgges fafre weran

(b) Protection of monuments and places and object of national importance/zrsgia

egho di Lekjdk vkj LFkkuk rFkk oLinvk dk Bij{k.k

(c) Protection of personal law/Loh; fof/k %i Buy ykh dk Bj{k.k

(d) Separation of Judiciary from Executive/U;k; ikfydk dk dk;akfydk I vyx j[kuk
Answer : (C)

The word socialist was inserted into the Preamble to the Constitution of India

through which one of the following Amendment Acts?/vRa & dfaam= &1 S2Rer o

‘lektoknh’ sreg frifaRaa & | foa va deigq ftfem @ aregw @ sfafdse fear wm on?

(a) 4 1° Amendment Act/a1ai e aifkfu;e

(b) 4 2" Amendment Act/azdi wenes sfifrm

(c) 4 3" Amendment Act/43df wee= aferfrm

(d) 4 4™ Amendment Act/a4df Fees siffrm

Answer : (b)

Article 352 of the Constitution of India cantina provisions related to/Hkjr d Ifo/ku d

VUPNN 352 e fdl Ii bcf/kr mic/k g?

(a) Financial emergency/folki; vkikrdky

(b) Failure of constitutional machinery in states/jkT;k e Bkfo/kkfud 0;oLFk dh foQyrk

(c) Suspension of the enforcement of rights conferred in part Ill of the

Constitution/Ifo/ku d: Hkx 111 ei ¢nlk vi/kdkjk di coru dk fuycu

(d) General emergency/lkekl; vkikrdky

Answer : (d)

Which one of the following energy is stored in the links between the atoms?/ijek.kvk d chp

clk e fukufyf[kr e I dkullh Atk Ixfgr gkrh g?

(a) Nuclear energy/ukftkdh; Atk

(b) Chemical energy/jklk;fud Atk

(c) Potential energy/fLFkirt Atk

(d) Thermal energy/ssia wat

Answer : (b)

Which one of the following minerals is used as a fuel in nuclear power stations?/ijek.k Atk

Pl (YR dfaR LeF) A §u9 & wu 7 f=fafa § ¥ slvar @ ggref ggw star 272

(a) Bauxite/ckDlkbV

(b) Quartz/LQfVd DokVith

(c) Feldspar/QYMLikj

(d) Pitchblende/fiplyuM

Answer : (d)

Which one of the following is not a synthetic detergent?f=fafaa & | sivar e wedfda

viektd ugh g?

(a) CH3(CH,)10CH,0 SO3 Na*

(b) [CH5(CH2)15 — N — (CH3)3]" Br~

(c) CH3(CH,)16C00~ Na*

(d) CH;(CH,)16C00(CH,CH,0), CH,CH,0H
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Answer : (C)
Which one of the following is an example of a clean fuel?/futufyf[kr e I: dkulk LoPN bi/ku dk ,d
mnkgj .k g?

(a) Coke/dkd (b) Propane/ckiu
(c) Petrol/iVky (d) Wax/eke
Answer : (b)

Which one of the following metals does NOT react with cold water?/futufyf[kr e: 1! di==ft eng haa
ty d IF vilkf@d;k ugh djrh g?

(a) Calcium (Ca)/dfYl ;e (Ca)

(b) Potassium (K)/aéfRrma (K)

(c) Magnesium (Mg)/A#iRrm (Mg)

(d) Sodium (Na)/lkfM;e (Na)

Answer : (c)

In which of the following pairs are the ions isoelectronic?/futufyf[kr e I fdl ;Xe e vk;u IebyDVkuh
g°?

(a) Mg?*, Ar (b) Na*, 02~
(c) AI3*,Cl” (d) K*,Ne
Answer : (b)

Which one of the following is used as a binder in paints?/jxyiik 4ilV% e ;ktd d :lk e futufyf[kr e I
fdl ¢;& fd;k tkrk g?
(a) Titanium dioxide/VkbVfu;e MkBvKD IkbM
(b) Novolac/ukckyd
(c) Phthalocyanine/Fkyklk; fuu
(d) Silicones/flfydku
Answer : (b)
Which one of the following statements regarding Electrocardiogram is correct?/
solagIaea™ & 7 # f=fafad § 9 319 |1 doe 98 § ?
(a) Electrocardiogram is graphical representation of electrical activity of cornea /@& iffar @
g AHAAT BT ATHI FFOT §
(b) Electrocardiogram is graphical representation of activity of kidney /@& gae @1 wfdafafer or
Ty ferror 7
(c) Electrocardiogram is graphical representation of activity of brain /zg aRass @1 wfafafer @
Ty ferror 7
(d) Electrocardiogram is graphical representation of electrical activity of heart /o= gga @1 dg@
Afhaar &1 ae R §
Answer : (d)
Which one of the following statements about Bipin Chandra Pal is correct?/fcfiu pln
iky di ckji e futufyf[kr dFkuk e I dku & Bk Igh g?
(a) He was a member of the moderate group of Congress. o dkxl d uje ny di
InL; FkA
(b) He was a member of the extremist group of Congress. /o dkxl d xje ny d
InL; FkA
(c) He was the Minister of Defence in the first Government of independent India/o;
Lor= Hkjr dh 1gyh Bjdkj e j{kke=h FkA
(d) He was the Chief Minister of west Bengal/a af¥@s §ar & q@midl o |
Answer : (b)
The Karachi resolution of Congress in 1931 advocated which one of the following
isSsues?/a 1931 | B B BT Ahed = freforRad & 9 fod te favy o1 ggef= fhar o)
(a) State shall not own or control key industries and services/Isu, g SR IR AT BT
A A7 39 R R0 T8 @




(b) State shall handover the key industries and services to the Indian business groups/3r=3,
(c) State should allow the Indian business group to invest fifty per cent of the capital/<r
FIAR I BT YSN BT TAN gfaud (a9 B @7 AR 99 §RT AT S ARy

(d) State shall own or control key industries and services/u, w@ I iR Harsil &1 wW@iHa
J1 9 R AT @

Answer : (c)

The treaty of Schonbrunn (1809) was signed after which one of the following battles?/sig-
31 Ay (1809) fFr=iferRed # & forw Ig & e gwaeIRa & miY &P

(a) Battle of Austerlitz/siresferest @1 g5

(b) Battle of Tilsit/faefie &1 gg

(c) Battle of Wagram/amwH &1 gg

(d) Battle of Lisbon/ferest &1 g5

Answer : (C)

Which of the following statements about The New Model Unions is/are correct?/ = #dfea
Al & v o frfaRed § 9§ &9 91/9 U9 981 8 /87

1. The New Model Unions were formed in the 1850s/U3 dfea o 1850 & q2rd # wfad @t T4
o

2. The New Model Unions were formed in the 1880s/Ug wisal - 1880 & w1 # o I AT
off

3. The New Model Unions comprised a Labour Party idea/=] dfea Jfa ofek ot & Uah faarR
DI AT Bl off

4. The New Model Unions excluded women in the 1920s/Ug #isal g1 =1 1920 & <2Td
AR Bl afeha HR QT o

Select the correct answer using the code given below :/ == & T g &1 JART &R FEl TR

BN

(@1 (b) 2
(c) 3and 4/3 3iR 4 (d) 3 only/@aa 3
Answer : (b)

An Election Commissioner can be removed from office on the recommendation of/f&
A= ST BT fbde! |XIfT IR Ug I ST ST |l ¢ |

(@) The Chief Justice of India/s=a @1 g1 =g

(b) The Chief Election Commissioner/q=1 fafe= g

(c) The President of India/s=a @1 <msgufa

(d) The Parliament/&sas

Answer : (b)

Which one of the following statements regarding the Rajya Sabha is NOT correct?/ rsa a1
% fowa & fr=feiRea § 9 d99T doF |8 T8 2

(a) Its members are elected by the elected members of the Legislative Assembly of a State/
gad el &l fate &l Isg o1 faus 9w & faifad el g fdar omar ©

(b) The election follows the system of proportional representation by means of a single
transferable vote/fam=m, srguiite gfiffea Tgiky & IR e sicRvii die (7@) [ gRr faar mar @
(c) 1/3 rd of its members retire after every two years/s5a e i8R 9a® IS 98 & 918
Har—frga 8 9 8

(d) It is a permanent body, but can be dissolved earlier by the President /3 t& emi fer
8, fobeg Wreeufey g1 39 ugel 1 fEfed fbar o ebar @

Answer : (b)

Fundamental right guaranteed under which one of the following Articles of the Constituation
of India is available only to the citizens of India?/=ma & dfeu™ & fFr=ferRaa § § 9 srgwes &




FI T APR BT TRET Dael IRA & ANRD] DI SUTES 87
(a) Article 19/arg=ss 19

(b) Article 20/arg=s7 20

(c) Article 21/srgees 21

(d) Article 22/argess 22

Answer : (d)

Harappan crafts display an amazing degree of standardization, According to
Kenoyer, what was the possible reason for such an achievement?/gMlik dh nLrdkjh

AT D BIfE & AFBIHIUT Bl FaRfd Hdl 2 | DA & IR, $H AR DI SUlT Bl
IHko dkj.k D;k Fkk?

(a) Availability of raw materials at local
Level/dPpi eky dh LFkuh; Lrj 1j ¢kl;rk
(b) Centralized markets for crafts/nLrdkjh di fy, dinher cktkj
(c) Specialized training centers for Craftsmen/cswaRl & foau faeidiga ulRao a5

(d) State control/jktdh; fu;=.k
Answer : (a)

% Consider the following statements about Ashokan rock edicts:/aene & Rrardal «

ckji e futufyf[kr dFkuk 1j fopkj dhft, b
1. Majior Rock Edict XIlI records
Ashoka’s remorse at the sufferings caused by his kalinga campaign/uq@ fRrereia
Xl srened @ ®felvr s @ +1j.k ghl onukvk b g, mid vurki dk vikfyf[kr djrk
gA
2. Major Rock Edict X records
Ashoka’s visit to Lumbini./sq@ Rrard@ X arerie &1 fas &1 am=r ol sifffaRaa sar
gA
3. Major Rock Edict Xl refers to Dhamma Mahamattas as a new category of
offcers instituted by Ashoka./wvq@ Rraret@ Xl 3 g1 G@¥Ifd ¢d ¢ I &
IferaTRAr, a3 JEmdal & ffds o=ar 2
4. Major Rock Edict XIlI speaks about showing tolerance towards all sects/ce[k
Rrereter Xl @+ gyarai & ufa g=rehaar fn[ku dk dgrk gA
Which of the statements given above are correct?/mi;ia e I dku I dfku Igh g?
(a) 1and 4 only/doy 1 vkj 4
(b) 2 and 3/2 vkj 3
(c) 3 and 4/doy 3 vkj 4
(d) 1,2 and 4/1] 3 vkj 4

Answer : (b)

% A ray of light when refracted suffers change in velocity. In this context, which one
among the following statements is correct?/ smad+ 89 W Y& &I fdor & a7 H gRad
BT 2| 39 ded #, frefaRad wodl # & &9 91 ta |8l 2

(a) Velocity increases as the ray passes

From a rarer to a denser medium/ f&=or & fover arem 9 g9 7199 § THT R R 9T gl
g

(b) Velocity decreases as the ray passes

grom a denser to a rarer medium/ &1 & Fu= ArRIH | IR AE H THT SRA W AT gedl
(c) Velocity decreases as the ray passes from rarer medium to denser medium/ fa=or
@ favet AT® | FEe "RgH H T B W) I gedT

(d) Change of velocity does not depend on the nature of medium/ & # gRad= Aregs @
THiT R R T8 PRar

X/
°e




X/
°e

An object is placed 10 cm in front of a convex lens of focal length 15 cm. The image
produced will be/ f&=fr 15 cm wrea & aret SO o & | 10 cm & 8 ) Th awg 79l B
T gfafaw o grm |

(a) Real and magnified/arfa® 3R smafda
(b) Virtual and magnified/amrft ik smafefa
(c) Virtual and reduced in size/smRY 3R MY # &H
(d) Real and reduced in size/ardfd® 3R 3mHMT § &F
%Nhy is Graphite used in electrolytic cells?/ fag[a — svaes Fal § Jwrge B ITAN T BT
|
(a) Graphite is soft and can be easily
Molded into electrodes/ 3wge ¥ BIaT 8 3R MM W oldelel d Qlell oI ddhdl &
(b) Graphite is made of layers of carbon
Atoms which can slide/ iwrse, HET & WRANRT &1 URdl § 91 8, S GRP Fabd o
(c) Graphite is inert to most of the chemicals and remains intact in electrolytic cells/
Irse ARGIY IARE & it Fi¥%pg 8iar 2 sk faga — smqees el 3 Aglor &l ©
(d) Graphite is a good conductor of electricity/iwe faga @1 gards &
Kamarajar Port was commissioned in 2001 to handle thermal coal requirements. It is
situated along the coast of which Indian State?/& RISIR a9 &1 2001 H IHHT BRI B AW & Tae
PR B Y AP (A1) fhar 11 o7 | I8 6 IR 99 & ¢ & Ui Rerd 87
(a) Andhra Pradesh/emr vy
(b) Odisha/sifssr
(c) Tamil Nadu/afeere,
(d) Karnataka/@=iic®
Which one of the following Union Territories of India is the smallest in terms of geographical
area?/ wRa &1 FHEIRIT § | DI FH Ve RIS &F BT gie I Fad BIET 27
(a2) Daman and Diu/es+ iR €
(b) Chandigarh/=<€rre
(c) Dadra and Nagar Haveli/aresr 3iR AR gdei
(d) Lakshadweep/@erga
Which one of the following can be said to be essentially related to ‘Polar Front Theory’?/
frfeiRaa § | fod (WeR e 2aR)) (ga aay Rier) 9 el 9 9 GRd &8l o 96l o7
(a) Anticyclone/ufrespara
(b) Tropical Cyclone/Swrafea=ia ashard
(c) Temperate Cyclone/ srarsr asphara
(d) Inter Tropical Convergence/ar<: IWhBCaR a0
Brahmaputra and Indus rivers are antecedent rivers. Which one of the following may be the
true definition of an antecedent drainage?/ ssrqa 3R R4 AT gdadii AT € | TP Yaad| oo
Juare @1 wel ufarsT frefeiRad # & w1 81 Hadl 27
(a) Which follows the initial slope of the Himalaya/Si1 fearea & URfe ol &7 S8R0 Hal &
(b) Which existed before the Himalayan range came into existence/Si faarerii sioft (1=14) &
R H 3 4 Uge & MM o
(c) Which followed the dip or rock beds of the Himalaya/fsra= fewrera &1 i a1 e dweRi &1
ARV fobar e
(d) Which followed the strikes of rock beds of the Himalaya./f5ras @9rera & 3t S”i & Afcear
BT AR fbar o
Who among the following has inaugurated Mega Dairy at Mandya in Karnataka
recently?
H A foas g1 & | $Hlcd $ AdT § W ST BT Igured fhar 22

(a) Anurag Thakur / 31eTdT ST
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(b) Piyush Goyal / 9§ JMrel
(c) Jitendra Singh / foidg Rig
(d) Amit Shah / 31Taid QMg

Prime Minister Narendra Modi has virtually flagged off Vande Bharat Express from
Howrah Railway Station connecting Howrah to which station?/sem== g wrdl 7 grasT
XA W ¥ EEST B e WO 9§ S dTell 98 YRA Tadssd & ggafell 89 siel fwrs?
(a) Guwahati / Tareret
(b) Kishanganj / fésist
(c) Katihar / ®feeR
(d) New Jalpaiguri / U3 STefarsiTsT
According to the Kolkata Metro Rail Corporation, India’'s first underwater metro service,
the East-West Metro Corridor project is expected to be completed by which date?
WIRd @1 Ugell JfSXATex W HdT, DIADIT HET ol DHIURTT & MTAR, SE—dC Jgl HINSR IRATT]
frq ARG d@ o EF B IS 27
(@) July 2023 / SeTs 2023
(b) December 2023 / fa¥eR 2023
(c) March 2024 | =13 2024
(d) September 2024 / f¥deR 2024
Who has inaugurated the Rs 300 crore Angul-Balram rail line connecting Odisha's
Talcher Coalfield recently?
B B H 3NfSHT & ToleR BicThics B Sike dTell 300 RIS U Bl IM[A—IERM Yol ATg Pl IGHCH
e faar?
(a) Ashwini Vaishnaw / aifta=t dwrq
(b) Piyush Goyal / 9§ JMrel
(c) Pralhad Joshi / weere wirdt
(d) Amit Shah / faa wrg
Which ministry has launched Prajjwala Challenge to transform the rural economy?/wmor
JNATIRI Bl gqe & foIy fHd #A1AT A doodoll deiol did foar 87
(@) Ministry of Health and Family Welfare / w@mes 3iR uRaR weamor #3rera
(b) Ministry of Environment and Forests / gafazor iR 991 #3era

(c) Ministry of Housing and Urban Affairs / vkokl iR ve& @rmalt & #arera

(d) Ministry of Rural Development / smior figrr wi=rer

Non-banking financial company Shriram Finance Ltd. has secured a $100 million loan from
which of the following organizations?/ ik— dfew facia wul sikm wg-w fafics 1 fr=foRad
H W | e ¥ $100 e &1 ot ure fHar 57

(a) World Bank / fasg &%

(b) AlIB / gamgamsdt

(c) ADB / vy faerr de

(d) NDB / g7«

The government has increased interest rates on various small savings schemes for the
fourth quarter of the current Financial Year starting from 1st January 2023. The interest
rate on Kisan Vikas Patra has increased to how much percent from 7 percent?

TRBR 7 1 TG 2023 F Y6 B dTel @1 fad ad a1 =hefl fommet & forg faf= 818 s9d aremmeil w)
e ) A gfg o 7 | A fae u3 W) @ &% 7 ufivd | 9gax fha ufawd 81 TS 87

(a) 7.1 percent

(b) 7.2 percent

(c) 7.3 percent

(d) 7.4 percent

Who has been appointed as the Chairman-Cum-Managing Director of the public
sector enterprise MOIL Limited?




qraoTe & & W MOIL fafics & sege—dg—udy Meve & wu A &9 fFged fear war 2?
(a) Pradeep Kharola / &u @=ra
(b) Ajit Kumar Saxena /3riid GAR FaRi=T
(c) R Venkataramani / 3mR daesAfor
(d) Mukul Rohatgi / e rEaei

*+ Who has been appointed as the head of the new Economic Advisory Council of
Maharashtra?/ #eRTg @1 7 3fYe FeedR IRV & U9 & wU 4 fbd Fgad fear = 872
(a) Abhishek Singhvi / a1fiye Rigdy
(b) Ajay Bhadoo / s wg.
(c) N Chandrasekaran /g =gweRe
(d) Mukul Rohatgi / &e rsaef

+ Who has been appointed as the Managing Director (MD) and Chief Executive Officer
(CEO) of Bombay Stock Exchange (BSE) Limited? / = <fe e (fivas) fofice &
Ty e (THS) IR =& srdar) e (Higel) & wu # fw fgea fasar w27
(a) Sundararaman Ramamurthy / ge=ww ImHfd
(b) Baskar Babu Ramachandran / swR arq #esa
(c) Vivek Joshi / faas <irdt
(d) Shamsher Singh / wmR ¥z

NDA 1 2023 MOST EXPECTED QUESTIONS MATHEMATICS

¢+ Suppose w is a cube root of unity with w # 1. Suppose P and Q are the points on the complex plane
defined by wand w?. If O is the origin, then what is the angle between OP and 0Q? /A1 <fifSTg &
0 TH (IAR) & 87d & iR w # 15| A1 iVl PR Q , TN w?gRT uR¥ING |ffms 99dd =R
fagd 2| afe O7afdg B, a1 OP3IR 0Q@ dra &7 BIvT FT 27

(a) 60° (b) 90°
(c) 120° (d) 150°
Answer : (c)

¢+ Suppose there is a relation = between the positive numbers x a nnd y given by x * y if and only if
x < y2. Then which one of the following is correct?/ A= &fSTg & gvTcH® el x IR y & 4=
U e * 39 UHR AT T 7 6 x ¢ y AR R daat afe x < 28| o F=fafed § & s
GEIR
(a) * is reflexive but not transitive and symmetric/* w@qed & <ifdsT HhMd® iR T 81
(b) * is transitive but not reflexive and symmetric/*%isme & difd Taqged 3R TR 81
(c) * is symmetric and reflexive but not transitive/*J\fAa 3R Wded © offdh Hhmd T8l
(d) * is symmetric but not reflexive and transitive/*&¥fd & oifdh Wded 3R Hprd e8!
(a)

% If x2 — px + 4 > 0 for all real values of x, then which one of the following is correct?/afe x @& &+
Jrfad A4 @ forg x2 —px + 4 > 0 &, @ F=feRad § & -1 e 981 27

@) Ipl <4 (b) Ipl <4
(©) Ip| > 4 @) Ipl = 4
Answer : (b)
. =25 _
S fz=x+iy= (% - \/—IE) , Where i = /=1, Then what is the fundamental amplitude of ZZ_:(/_Z; 7/
_ . _ 1 i —25 M. o Z—\/E

aﬁ{z—x+1y—(\/—5—ﬁ) ,\_:lT%Tl—\/—l,%\, =1 el ST 87
@m (b) 2

T T
©3 )

Answer : (a)
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If () — flxy) = f (xlx—xz) for x;, x, € (—1,1), then what is f (x) equal to? /af& x;,x, €
(10,3 RIT f(r) = () = f(F222) & @ Feofms s &7

@m (%) (b) In (22)

© tan” (5) (@)tan”! (iii)

Answer : (a)

What is the range of the function y = where XERY®aT y = T ZEFaT IR R®IT 7, 58l x € R
27

(a) [0,1) (b) [0,1]

(c) (0,1) (d) (0,1]

Answer : (a)

A straight line intersects x and y axes at P and Q respectively. If (3,5) is the middle point of PQ,
Then what is the area of the triangle OPQ?/T% WRal @1 xR yatedl &I % PR QuR ufcresfed
a1 2| afe(3,5) ,. PQ &1 Ard—fdg 8, 1 st OPQ &1 &%l & 27?

(a) 12 Square Units/ 12 a3 s&1s

(b) 15 Square Units/ 15 & T

(c) 20 Square Units/20 & T

(d) 30 Square Units/30 a7 s&Ts

Answer : (d)

If a circle of radius b units with center at (0, b) touches the line y = x — V2, then what is the value
ofb;?g/aﬁ’%mb PSR B (0,b)HT U I, Y@y = x — V2,®! W &_al 8, A1 b &7 7
T 27

()2 +2

(b)2 -2

(c) 2v2

(d) V2

Answer : (a)

Direction: For the next three (3) items that follow:/f<er 37T 31+ aret 9 (3) Ue=iel & foy -
Consider the function £(8) = 4(sin?6 + cos*8)/we= function £(8) = 4(sin?6 + cos*O)R fAR
BINTY |

What is the maximum value of the function £ (8)?/wa f(0)aT AfHAR A FIT 27

(@1 (b) 2

(c)3 (d) 4

Answer : (d)

What is the minimum value of the function f(8)?/%e= f(0) &1 <IAaH w19 F7 27°
(@0 (b)1

(c)2 (d)3

Answer : (d)

What is the distance between the points which divide the line segment joining (4,3) and (5,7)
internally and externally in the ratio 2:3?/39 f[d=gail & 4= &1 g3 T & ST (4,3)3IR (5,7)dT Sire
qTel VERIS BT ARG 3R 9Tl w9 I 2:3 S AJurd # fawford a=a 27?

@ 12\/_

r
(b) =5~

©Z

() ﬂ

Answer (@)

What is the angle between the straight lines (m? — mn)y = (mn + n?)x + n3 and (mn + m?)y =
(mn — n?)x + m3, where m > n?/3Ra @RI (m? — mn)y = (mn + n?)x + n33iR (mn +
m?)y=mn—-n?)x+m3 SE m>n g & A & DIV RAT 57




R/
0'0

(@) tan™" (2 (b) tan (22)

m2+n? 4—nt
2,2
(©)tan™* (252) (d)45°
Answer : (b)

What is the equation of the straight line cutting off an intercept 2 from the negative direction of y-axis
and inclined at 30° with the positive direction of x-axis?/S¥ \el Y@ & THIGROT FT § ST y-37&T Bl
FUMCHS Q2T I 2 BT FATS Plcdl 2 3R X-3A&T Pl gHAD A B AT W FDH! §g o7
(@x—2V3y—3v2=0

(b)x +2vV3y—3v2 =0

(©)x++V3y—2v3=0

(dyx —V3y—2V3=0

Answer : (d)

What is the equation of the line passing through the point of intersection of the lines x — 2y —3 =0
and 2x —y + 5 = 0 and parallel to the line y — x + 10 = 0?/IH @1 BT FHEHROT RT © Sl @3N
x—2y—3=03R2x—y+5=0% Ufeos g J gax [oRAI e IR W y—x+10=0
HAR &7

@7x—7y+18=0

(b)5x -7y +18=0

(c)5x—5y+18=0

dx—-y+5=0

Answer : (c)

Consider the following statements: /fF=feiRad wemi W TR HIvTw:

1. The length p of the perpendicular from the origin to the line ax + by = c satisfies the relationp? =

L./H\F{—ﬁ%ﬁw ax+by=cwaﬁﬁaﬁ|€p,ﬂﬁﬂp2=iﬁﬂﬁﬁﬂﬂﬁ%|

aZ+b2 aZ+b2

2. The length p of the perpendicular from the origin to the line § +% = 1 satisfies the relationp—l2 =
1 1 x Y _ . .1 1 1 .

=+ TG WX = 4 - = 10 ofd B o4 p, Fe pz—a2+bzaﬁﬂ§EW%|

3. The length p of the perpendicular from the origin to the line y = mx + c satisfies the rela'[ionp—l2 —
1“7;”2./ Tol—fawg W X1 y = mx + cWR 4 B qwTE p, Gey p—12 - 1”'22”23% e BT B |
Which of the above is/are correct?/Su # ¥ HIH—41/¥H Hel & /77

(@) 1,2 and 3/1, 2 3R 3

(b) 1 Only/&aen

(c) 1 and 2 Only/@ad 1 3R 2

(d) 2 Only/ ®aat 2

Answer : (C)

< What is the equation of the ellipse whose vertices are (+5,0) and foci are at (+ 4,0)?/35 &Teiga &1

BT 7 7 foaa o (£5,0)7 iR AT (4 4,0)R &7
X2 y2 _

(3)254'25——1
X ye o

O +5=1

x2 yz
«3554'Ié::1

x y
«D;7+'E§=:1
Answer : (a)
What is the equation of the straight line passing through the point (2,3) and making an intercept on the
positive Y-axis equal to twice its intercept on the positive X-axis?/S¥ el Y@T &I FHIGHRT FIT &SI
fag (2,3) ¥ BIaR TORdl 2, 3R gcAD Y-3feT UR IHBT 3Aa: T, FHD X-378 W I TS Pl
AT e 27
@2x+y=5
(b)2x+y=7
C©x+2y=7
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d2x—y=1

Answer : (b)

Let the coordinates of the points A4, B, C be (1,8,4), (0,—11,4) and (2, —3,1) respectively. What are
the coordinates of the point D which is the foot of the perpendicular from A on BC?/5m eiforg fa=gait
A, B3R Co& fdwna waer (1,8,4),(0,—11,4):0R (2,—3,1) 2139 fog D & fadena &1 & ST A 4
BC W ofeure g ?

(a) (3141 _2)

(b) (4,-2,5)

(C) (4151 _2)

(d) (2,4,5)

Answer : (C)

What is the equation of the plane passing through the points (-2,6,—6), (—3,10,—9) and

(—5,0, —6)?/fa=gatt (—2,6,—6), (—3,10, —9)3iR (—5,0,—6)H BHR Gk aTel FATA BT FAIDROT
T 57

@2x—y—2z=2

(b)2x +y+3z=3

Cx+y+z=6

(dDx—-—y—z=3

Answer : (a)

A sphere of constant radius r through the origin intersects the coordinate axes in 4, B and C. What is
the locus of the centroid of the triangle ABC?/qe—fd=g & 8l ok drel Fad (3reR) 3ar r &1 e
Merr fcene sl B A, B3R CR el 8 | Brfsl ABC & dsd &1 fd=guer a1 &7?

(@) x2 4+ y% +z2 =12

(b)x? + y? + z2 = 4r?

(€) 9(x2 + y? + z2) = 4r?

(d) 3(x? + y2 + z%) = 2r?

Answer : (c)

Two men hit at a target with probabilities %% and 1/3 respectively.What is the probability that exactly
one of them hits the target?/ar @fdd fH=fl Tea & HH: 1 /2 iR 1,/3 & WRGART & 9d & | 98
UG R & 6 94 A SI5—3Idb PIE Udh 9 e Pl 9eAT 872

(@) 1/2 (b) 1/3
(c)1/6 (d)2/3
Answer : (a)

Two similar boxes B;(i = 1,2) contain (i+1) red and (5-i-1) black balls. One box is chosen at random
and two balls are drawn randomly. What is the probability that both the balls are of different
colours? / &1 Ta—oi¥ feadl B;(i = 1,2)% (i+1) ofrel 3R (5-i-1) Brefl < B | v e agzodr g
SIAr € SR a1 S ggesdr Marell Sl € | a8 uikiedr @1 § b <l I1E SerT—aterT I @ 87?

(@) % (b)3/10

(c)2/5 (d) 3/5

Answer : (d)

In an examination the probability of a candidate solving a question is ¥.0ut of given 5 questions in
the examination,what is the probability that the candidate was able to solve at least 2 questions ?/T®
TR # g aeft & UH U BT B B D UIRIHAT 1,/2 B | 98 Wiidhdr @ ® 5 w_ier # fear 1y
5 Ul # 9 el HH— —BH 2 ULl B §A B H HeTH ET?

(@) 1/64 (b) 3/16
(c)1/2 (d) 13/16
Answer : (d)

If A € B, then which one of the following is not correct ?/afs A € B g, a1 fa=faRad # | da—r
U%h A8l el 87
(@) P(AnB) =0

_ P&
(b) P(4]|B) = PB)

_P®
(c) P(BlA) = )

P(4)

(@ PAIGAUB) = 55
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Answer : (C)

The mean and the variance in a binominal distribution are found to be 2 and 1 respectively.The
probability P(X = 0) is :/fa=7t fgug dcd & Ary 3R TR0 HHe: 2 3R 1 91Y I1d 7 | wiiidar P(X =
0) T 77

(a) 1/2 (b) 1/4
(c)1/8 (d)1/16
Answer : (d)

The mean of five numbers is 30.If one number is excluded,their mean becomes is 28. The excluded
number is :/dfe GA13T BT 7T 30 B | I U GRAT BT B AT S 8, AT ST AR 28 & Sl
2| OIS T TR R/AT 27

(a) 28 (b) 30
()35 (d) 38
Answer : (d)

If A and B are two events such that P(A U B) = %,P((A UB) = % and P(4) = % ,then what is P(B)

equal to /AR &k < weY 59 9AR & f5 P(AUB) =2, P((A U B) = ik P(4) == d P(B)

forae xR 27

(a) 1/3 (b)2/3
(c)1/8 (d)2/9
Answer : (b)

The ‘less than’ ogive curve and the ‘more than’ ogive curve intersect at :/'@¥ Q' QRO ash IR AR
o' ARV 956 Pal UfTesd BRd §7

(a) median/=riegasT UR

(b) mode/agetd TR

(c) arithmetic mean/ wHI=<R #A1ET R

(d) None of the above/ Iuth # & i 7Tal

Answer : (a)

In the throwing of the dice, the number of exhaustive events that ‘5 will never appear on any one of
the dice is :/aT 9T B B H I 2T g @I, {6 74 A fbdl i Uiy R ‘5" H1 81 3T,
| R 87

(@5 (b) 18
(c) 25 (d)36
Answer : (c)

Two cards are drawn successively without replacement from a well-shuffled pack of 52 cards.The
probability of drawing two aces is :/3/ 281 d%g W< g AT & 52 UKl @l U Tl § 9 9471 ufewenas &
T O] SRR AdTel ST & | ATl 1Y Q1 U<l & S&T 89 @ UIiddr 9T 87

(@) 1/26 (b)1/221
(c) 4/223 (d)1/13
Answer : (b)
< What s | equal to?/[ — & fa TR 27
sex x +tan x sex x +tan x

< What s |

(@) In (secx) +In[secx + tanx| + ¢
(b) In (sec x) - In|secx + tanx| + ¢
(c) secxtanx — In |secx —tanx| + ¢
(d) In |[secx + tanx |—In | secx| +c
Answer : (d)

secz(tan—1 x)

equal to?/f — ¥ Grae avmeR 87

ec2(tan~1 x)
(@ sin"tx+c (b) tan 1 x + ¢
(c) sec™lx + ¢ (d) cos™lx +c
Answer : (b)



% If x +y =20 and P = xy, then what is the maximum value of P? /af +y = 203iRP = xy ¥,
ar P &l ifydds A T /7

(a) 100 (b) 96
(c) 84 (d) 50
Answer : (a)

< What is the derivative of sin(Inx) + cos(Inx) with respect tox at x = e 2/ x = eWR x & AT
sin(In x) + cos(In x)& Famers (SRafea) Fr 87

cosl-sin1 sinl—cos1
(@) = ()T
1+sin1
(C) cos :sm (d) 0
Answer : (a)

>

» If x = et costand y = e’sint, then what is Z—; att =0 equal to? /afg x = et cost3lR y =
elsint?, @ t = O Z—f}ﬁo‘ﬂ’cﬁ IR &7
(@0 (b) 1
(c) 2e (d) -1
Answer : (b)
< What is the maximum value of sin 2x.cos 2x ? /sin 2x . cos 2x@®T 3TferdHdH A 9T &7
(a); (b)1
(c) 2 (d) 4

Answer : (a)

1

% The value of tan (Ztan‘1 % — %)is:/ tan (Ztan‘1 i %) BT 919 T 27

(a) —— (b) =
(©)2 ()=
Answer : (a)

++ Two poles are 10 m and 20m high. The line joining their tops makes an angle of 15° with the
horizontal. The distance between the poles is approximately equal to:/ 10 m3iR 20 m $a1s & &I
WY 7 | Sd Ul BT S drell @1 8fsT & |1 15° H PI0T 9471 & | Tl & 41 DI
T fHAS SRR 787

(@) 36.3m (b) 37.3 m
(c)38.3m (d) 39.3m
Answer : (b)
o Ifgx) = —L_and f(x) = x,x # 0, then which one of the following is correct?/ I g(x) = L

fx)
MR f(x) =x,x # 0 A=fIRad § & &9 A1 T T 87
@ FFGF @@ NN =g@( @)

(b) F(f(g(g(@(fF () = g(g(f (g(f (x)))))

©) fa(Fga(fF ) = g@(f (g(f (x)))))
CFIGGCICIOEENNNESIGICICI(LE)))

f(x)

Answer : (b)
% Consider the following /FTfeTRad WR fa=mR Hifery:
in"1% fsin~13="C
1.sin 5+51n - =5

2.tan"'V3 +tan"'1 = —tan"}(2 + V3)

Which of the above is/are correct?/ It # | BIF /¥ F&l 8/ 7
(a) 1 Only/@aet 1 (b) 2 Only/&da 2

(c) Both 1and 2/1 3iR 2 <1 &

(d) Neither 1 nor 2/ = @I 1, 51 &I 2



Y/
0.0

Answer : (C)

1 2 3
If A is orthogonal matrix of order 3and B = |—-3 0 2], then which of the following is/are
2 50
1 2 3
correct?/m‘%A,aﬁ%awwa'é$w%‘sﬁ?3=[—3 0 Zl,ﬁﬁﬂﬁr@—dﬁﬁ?ﬁﬁ
2 50
—9|1 /9 WE 2 /77
1. |AB| = +47
2.AB =BA

Select the correct answer using the code given below:/ @ f&d T HS Pl TANT R Fal SR
fr:

(a) 1 Only/ &adl 1 (b) 2 Only/ ®aet 2

(c)Bothland 2/ 1 3R 2 T &

(d) Neither 1 nor 2/ = @I 1, 51 &I 2

Answer : (a)

If a, b, c are the sides of a triangle ABC, then—+——c—wherep > 1,is:/ I a,b,c Tb Y
ABC?ﬁﬂ\_rITQ%—+———FﬁGIETp>1

(a) Always negative ~ / Q4 RUTHD &

(b) Always positive/ ad €FTHS @

(c) Always Zero/ \<d T ®

(d) Positive if 1 < p < 2 and negative id p > 2/ TS © IfT 1 < p < 2 AR RS 8 IS
p>2

Answer : (b)

1—-a 1-b—c b+c

1—b b—c—a c+alis/ Al
1-c c—a—-b a+b

If a, b, c are real number, then the value of the determinant

_ _ l1—-a 1—-b—c b+c
qITd GRTe 8, dl ORfO% |[1—b b—c—a c+a
1—-¢c c—a—b a+b

BT JI FT 27?

(a) 0

(b) (a=b)(b—c)(c—a)

(c) (a+ b + c)?

(d)(a+b+c)?

Answer : (a)

If the point z; = 1 + i, where i = +/—1, is the reflection of a point z, = x + iy, in the line iz — iz =
5, then the point z, is:/ afX &g z, =1+i W&l i=V-1,RF z, =x +iy FI@ iz— iz =5,
H e 2, a1 g z, @ 8°

(@1+4i (b) 4 +i
(©1-i (d)-1-i
Answer : (a)

If sinx + siny = a and cosx + cosy = b, then tan? ( > )+ tan? ( )Isequal to:/ Al
sinx + siny = a 3R cosx + cosy = b,dl tan? ( . )+ tan ( . ) FHD IR B°

( )a 24+b*+4b?
2b2+b4—
a*—b*+4b?

(b)



Y/
°

7
0’0

R
0’0

(C) a*—b*+4a?
aZb2+b*

(d) None of the above/STh # & ®Ig Tei

Answer : (b)

A vertical tower standing on a leveled field is mounted with a vertical flag staff of length 3 m. From a
point on the field, the angles of elevation of the bottom and tip of the flag staff are 30° and 45°
respectively. Which one of the following gives the best approximation to the height of the tower?/
TP FEAER AR Th JUC 8RR TSl 2 | S9P HUR UH 3 m dHTS B HEHER ol oS
ol fhar AT & | HeM & (5 fag 9 eaoide & a1 SR U & IIF BIT HAT: 30° 3R 45°
2| fFrfalRad § & @19 A1 U, MR @1 SHAE BT FadH Afdbe 7 <l 87

(@) 390m (b) 4.00 m
(c) 4.10m (d) 4.25m
Answer : (C)

Sin A + 2 sin 2A+ sin 3A is equal to which of the following ?/ Sin A + 2 sin 2A+ sin 3A f=faRaa #
A fras wER 87

1. 4 sin 2A cos’ (%)
2
2.2sin 2A (sin% + cos %)
3.85sin A cos A cosz(%)
Select the correct answer using the code given below: / =19l f&T Y &e &1 YANT HR el IR T
(@) 1and 2only/ &ddt 1 3iR 2
(b) 2 and 3 only/ ®det 2 3iR 3
(c)land3only/ ddd 1 3iR 3
(d)1,2and 3/ 1,2 3iR 3
Answer : (c)
If x=sin70° X sin50° and y= cos60° x cos80° then what is xy equal to?/ Tf& x=sin70° x sin50° 3R y=
C0S60° X c0s80° T Xy fhad axTER &7

(@) 1/16 (b) 1/8
(c)1/4 (d) ¥2
Answer : (a)

If sinf; + sinf, + sinf; + sinf, = 4, then what is the value of cosf1+ cos62+ cos8z+ cos04 ?/
IS sind, + sinb, + sinfs + sinb, = 4, &, cosO1+ c0sO,+ cosOz+ c0sH, BT A R &

(@0 (b) 1
(c)2 (d) 4
Answer : (a)

What is the value of
(1 + cos g) (1 + COS%T) (1 + cos%n)
(1 + cos%”)?/ (1 + cos g) (1 + cos%n) (1 + cos%”)

T

(1+cos%)3r7[ A T 87

OF )5+ 55
© 335 OF
Answer : (d)

If xcos® + ysind = z, then what is the value of (xsin@ — ycos#)??/ If& xcosd + ysinf =z, &, Al
(xsind — ycos0)? &1 A FAT 87

(a) X*+y?-7* (b) X*-y*-z°

(©) X2y?+7° (d) xC+yP+7

Answer : (a)



What is the value of cos (2 cos — 10.8)?/ cos (2 cos — 10.8) &T HIF T &7

(@) 0.81 (b) 0.56
(c)0.48 (d) 0.28
Answer : (d)

The top of a hill when observed from the top and bottom of a building of height h is at angles of elevation
p and q respectively. What is the height of the hill?/ T&% TBTE! &7 RRIR a8 & ARG & AR da
A URIT fhy I W) HA: R ST B0 R 2| TBIS B s a1 27

hcotq hcotp
( )Cth COtp ( )COtp Cth

2htanp 2htangq
( )tanp —tanq ( )tanq tanp
Answer : (b)

If sin 18° = \/_4 ! , then what is the value of
sin81°7 / ¥ sin 18°= Y2 it sin 81°%1 A T ¥?
@ )\/3+\/5+\/5 -5 (b) V3+V5+v/5+V5

4
© )\/3 \/5+\/5 N () V3+V/5-y/5-v5
4
Answer : (a)

A moving boat is observed from the top of a cliff of 150 m height. The angle of depression of the boat
changes from 60° to 45° in 2 minutes. What is the speed of the boat in metres per hour?/ 150 m @ TS
B UH G IS B ORI UH TR A9 BT @1 ST &7 © | A1 BT a=9 By 2 e § 94
qEABR B ST & | 919 P 97, Hiex ufey o< #, foa 87

4500 4500(v3—-1
@5 (p) 205D
(c) 4500v3 (d) %‘f”)
Answer : (b)
What is —222%_ equal t0?/ 2% fipyas aRTaR &7
(@) V3 (b) V3
(c) V2 -1 (d) 1-V2
Answer : (b)

What is fablxldx + ffll — x| dx equal to, where [.] is the greatest integer function?/ f;lxldx +
211 = x| dx ey TR 8, STl W quiies e 27

(@b—-a (bya—>»b
(©0 (d) 2(a—D)
Answer : (b)
What is fzglx — 5| dx equal to?/ f28|x — 5| dx fpa® a_mER 87
(a) 2 (b)3
(c) 4 (d)9
Answer : (d)
What is [ sin3x cos x dx equal to?/ [ sin3x cosx dx fha® TR 2°?
(a) cos *x + ¢ (b) sin*x + ¢
(o Gzt O
Where c is the constant of integration?/ W&l ¢ THIHET R ¥ |
Answer : (d)
What is [ e/™(tan)dy equal to?/ [ e™aX) gy fraa aRMER 87
(@) In|tanx| + ¢ (b) In |secx| + ¢

(c) tanx + ¢ (d) et*n* + ¢



Where c is the constant of integration./ ST&f ¢ HHATHA MR & |
Answer : (b)

% Whatis [ { (tan x)} dx equalto?/ [ { (tan_1 1)}dxﬁv_\’=l—cﬁ TR 87
@0 OB
s T
© -3 (D)3
Answer : (c)
< In which one of the following intervals is the function f(x) = x? — 5x + 6 decreasing?/
forferRad sfarrell # I fhaH, B f(x) = x% — 5x + 6 A &7
(@) (=, 2] (b) [3,0)
() (=, ) (d) (2,3)
Answer : (a)

% The differential equation of the family of curves y = p cos(ax) + g sin(ax), where p, q are
arbitrary constants, is/ dsh—del STEl W8 AR &, BT ddhd FHIDHRT &

(a)d2 a’y =0 (b)dz—y—ay=0
X
(c) +ay—0 (d) +ay—0
Answer: (d)
+¢ The equation of the curve passing through the point (—1, —2) which satisfies Z—y =—x?—

= is/ g (-1,-2) ¥ I a1 9k 2 = —x? — P W< B A I BTGB @
(@) 17x%y —6x2+3x2—-2=10

(b) 6x%y —17x2+2x?> -3 =0

(c) 6x%y —2x? +17x2 -3 =0

(d) 17x%y — 6x%2 +3x2—5=0

Answer : (b)

% What is the order of the differential equation whose solutionisy = a cas x + bsinx + ce™ +

d, where a, b, c and d are arbitrary constants?/ 39 3[ddhe AHIBR BT BIfS RT B, foTAPHT &
2 el 3R WwB 3R 27?

(@1 (b) 2
(©)3 (d) 4
Answer : (d)

+ What is the solution of the differential equation in? In (%) = ax + by?/ 3dHA HHIHIT

In(%) = ax + by &I & T &7
(@) ae™* + be?” = ¢
(b)%eax +%eby =c
(c) ae®™ + be™ PV =¢
(d) %eax + %e‘by =c
Where c is an arbitrary constant?/ ST&! ¢ Y& W& (R ¥ |

Answer : (d)
¢ The following table gives the frequency distribution of number of peas per pea pod of 198

pods:/ fmferRad ARl 198 AeR Wefl # A & W& & IRIRAT §c BT ST &
Number of

peas/e’l |1 |2 [3 |4 |5 |6 |7
CalssEEl




Y/
°

R/
0'0

R/
0'0

Frequency | 4 |33 |76|50(26|8 |1

[RETRAT
What is the median of this distribution?/ $9 dc &1 HAIfSIHT T 87
(@3 (b)4
(©)5 (d)6
Answer : (a)

If M is the mean of n observations

x, —k,x, —k,x3 — k, ..., x,, — k, where k is any real number, then what is the mean of
X1, X2, X3, 0, X2 TR N VTN xy — Ky x, — K, X3 — K, .o, X — k BT ARI M B, STEI k Uh
IRAAD AT B, AT Xy, Xy, X3, ..., Xy, BT AT FT B2

@M (b) M+ k
c)M -k (d) kM
Answer : (b)

What is the sum of deviations of the variate values 73, 85, 92, 105, 120 from their
mean?/ fa=R #7141 73, 85, 92, 105, 120 &1 39 AT I A=l &I ANThH T 87

(@ -2 (b) -1
()0 (d)5
Answer : (C)

Let x be the HM and y be the GM of two positive numbers m and n. If 5x = 4y, then
which one of the following is correct? /A <INTT x &1 gFTHS Gl m iR n &1 HM
2 3R y 3 @1 GM 2| 3fe 5x = 4y &, a1 F=fafad # & -1 921 27

(@) 5bm =4n (b)2m =n
(c) 4m =5n (d)ym=4n
Answer : (d)

If the mean of a frequency distribution is 100 and the coefficient of variation is 45%, then
what is the value of the variance? / aife f&=fl gRIRAT g9 &1 AT 100 T 3R fI=Ror
Ui 45 IR ©, A JHRYT BT A9 FT 27

(a) 2025 (b) 450
(c) 45 (d)4.5
Answer : (a)

Let two events A and B be such that P(4) = L and P(B) = M. Which one of the following
is correct?/ #H AISTT &T T8 A 3IRB A UTaR © T P(A) =L IR P(B) =M % |
f=faRad & & -1 W& '?

() P(A|B) < ==
(b) P(A|B) >~
() P(AIB) =~
(d) P(A|B) = ===

Answer : (C)



De”éncemuru




